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Short answer questions/problems

1.  What is the name of one of the three ways in which potential investors are informed about a new security issuance that was mentioned in the notes?

One of:  prospectus, red herring, tombstone advertisement

2.  Assume that you own stock in a company and that the stockholders in this company have a preemptive right.  What does this affect you?

You have the right to purchase new shares in proportion to your current ownership

3.  What is the main way in which a stock dividend differs from a cash dividend?

Receive additional shares rather than cash.

4.  When we examine the ways in which actual stock prices react to dividends, what do we find happens to stock prices on the ex-dividend date?

Price falls by an amount less than the dividend in the first few minutes of the day.

5.  According to the signaling theory of dividends, what does management consider when setting the current dividend?

1)  most recent dividend, 2) current earnings, 3) future expected earnings

6.  According to studies of actual firms, what kind of firm tends to have low levels of debt in the US?

Firms in high growth industries

7.  What kind of firm would most benefit from debt helping to resolve conflicts of interest between a firm’s stockholders and managers?

Firms with high levels of free cash flows

8.  When Modigliani and Miller examine how capital structure decisions are irrelevant if capital markets are perfect, they discuss how stockholders should be indifferent to a firm’s capital structure because they can create their own leverage.  How can stockholders create their own leverage?

Borrow on own.

Final Exam; F4360; 2:00 Class; Spring, 2002; page 2 of 5

Problems/Essays

1.  
Despite announcing lower first quarter profits on May 9th, Loews Corporation stated that it intends to go ahead with a repurchase of 19 million of its 190 million total shares outstanding.  The firm will repurchase the shares for $82.50 per share which is a substantial premium to their current stock price of $60 per share.  Assume you are James Tisch who is President and CEO of Loews and who owns 3 million shares of Loews’ stock.

a.  What will happen to the price per share of Loews’ stock after the repurchase (assuming nothing else changes)?

b.  Assume that the firm decides to repurchase the shares via a tender offer.

1)  How many shares can you (James Tisch) offer to sell back to the firm?

2)  How will your wealth be affected by this repurchase if a total of 118.75 million shares are offered to the firm by existing stockholders?  Assume you act in your own best interest.

c.  Now assume that the firm repurchases the shares by using transferable put rights in which the firm issues one put per outstanding share.

1)  If you decide to sell your puts, how much total cash should you be able to get for selling them?

2)  If you decide to exercise your puts, how much total cash will you receive for the shares you sell?

a.  
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b.  
1)  3 million

2)  
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wealth before = 3(60) = 180 million

wealth after = 0.48(82.50) + (3 – 0.48)(57.50) = 184.5 million

impact = 184.5 – 180 = +4.5 million

c.  
1)  # of puts per share = 
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sell => 2.50(3) = 7.5 million
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2.  How do conflicts of interest within the firm affect the total amount of dividends being paid in the United States?  Explain.  (Think about how dividends would differ if all of these conflicts could be costlessly resolved).

Stockholder-bondholder conflict

Stockholders [2] gain at the expense of bondholders [2] if the firm pays dividends

=> firm value falls [4] when pay out cash as a dividend

=> both stock and bond values drop [4]

=> stockholders get entire dividend by value of stock drops by less than the dividend [4]

=> increase incentive to pay dividends [4]

Note:  dividend payments are probably limited by the bondholders in the covenants [8]

=> net impact of stockholder-bondholder conflict is unclear [4]

Stockholder-manager conflict

=> if firm increases dividends, it increases the chance that the firm will have to issue securities in the future [4]

=> when issue securities, the firm gets scrutinized [4]

=> provides stockholders [2] with monitoring [4] of management [2]

=> stockholder-manager conflict increases the incentive to pay dividends from the stockholder’s perspective [8]

Scale:  24=72, 20=69, 18=66, 14=62, 10=58, 8=55, 6=53, 4=50

3.  Based on our discussion in class, what impact do taxes have on a firm’s optimal capital structure?

Corporate tax code [4]

=> gives firm an incentive to issue debt [4]

=> interest is tax deductible [4]

=> as increase debt, after-tax cash flows increase [4]

Personal taxes [4]

Miller’s analysis [2]

=> assumes equity income is in the form of unrealized capital gains and thus untaxed [2]

=> personal taxes paid on interest income reduce the corporate tax advantage of debt [4]

=> in equilibrium, TB = TC [2]

=> personal taxes exactly offset the corporate tax advantage and the net impact of taxes on the optimal capital structure is zero [4]

If allow for lost tax shields

=> interest is only tax deductible if EBIT > interest expense [4]

=> for individual firm, expected tax savings per $ of invested interest drops as increase debt [4]

=> individual firm’s issue debt until 
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 in which case taxes combine to determine the optimal capital structure [4]

Scale:  28=72, 26=70, 20=62, 14=54, 12=53, 10=52, 8=50, 6=48
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4.  In what way or ways do conflicts of interest within the firm impact on the capital budgeting decisions managers make?

Stockholder/Manager Conflict

1)  Relative to stockholders [2], management [2] wants to overinvest in projects that reduce company specific risk [6] and underinvest in projects that increase company specific risk [2].

Reason:  management not well diversified [4]

2)  Relative to stockholders [2], management [2] wants to overinvest [8] to achieve more growth 

Reason:  Increased firm size likely leads to increased pay, perks, power, etc. [4]

Stockholder/Bondholder Conflict

1)  Relative to bondholders [2], stockholders [2] will have an incentive to overinvest in high variance projects [8].

Reason:  bondholders have a fixed claim [1] while stockholders have a residual claim [1] and limited liability [1]

=> stockholders get the upside [1] but share the downside with bondholders [1]

2)  Relative to bondholders [2], stockholders [2] will have an incentive to underinvest in positive NPV projects [4] if stockholders must fund the project [4]

=> stockholder funds provide a cushion for bondholders [1]

=> stockholders share the benefit of the project with bondholders [1]

=> stockholders lose if stock value increases less than their contribution [2]

Scale:  46=72. 44=71, 42=70, 38=68, 36=67, 33=66, 32=65, 30=64, 28=63, 27=62, 26=61, 24=60, 23=59, 21=58, 20=57, 19=56, 16=55, 14=54, 13=53, 12=52, 9=50, 8=49, 6=47, 4=45, 2=40, 1=35

5.  You have recently discovered Caffé Mocha and have decided to invest in Starbucks Coffee Inc.  You are concerned about the risk of Starbucks and have thus collected the following return data.  Based on this information, what is your best estimate of Starbuck’s beta?


Return on:

Year
Starbucks
S&P500
2002
16.5%
-11.0%

2001
15.0
-9.5

2000
-9.5
+11.0

1999
41.0
+21.0
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6.  You have recently purchased 200 shares of Dell stock for $28 per share.  Since you bought the stock, it has fallen to a current price of $25 per share.  You are concerned that Dell stock may drop as low as $15 per share by the time you plan to sell the stock 9 months from today and have thus bought a put with an exercise price of $20 that expires 6 months from today.  You estimate that the standard deviation on Dell’s assets is 35% but that the standard deviation of returns on Dell’s stock is 63%.  Puts and calls on Dell are even riskier.  You estimate that the standard deviation on the put you have bought is 94% and that the standard deviation on an equivalent call is even higher at 109%.  These all compare to the standard deviation of the market as a whole of 22.9%.  When you bought the Dell stock and the put, you also considered purchasing Treasury securities and found that the rate on these securities varied by maturity as follows (all APRs assuming continuous compounding):  1-month = 1.73%, 3-months = 1.74%, 6-months = 1.89%, 9-months = 2.13%, 12-months = 2.29%.  What was your total cost to purchase the stock and puts?

2 = (.63)2 = .3969
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Total cost = 200*(28+1.83) = $5966

7.  Electron Arts Inc. is considering investing in a new factory to manufacture CDs for it PS2, X-box, Gamecube, and PC games.  Because EA sales of the X-box and Gamecube are so uncertain, EA estimates that the standard deviation of returns on the factory will be 65% rather than the 53% on EA’s existing assets.  Similarly, EA estimates that the beta of the new project will be 0.9 rather than the 0.8 on its existing assets.  Four months ago, EA bought land in anticipation of the plant for $80,000.  Today, this land could be sold for $100,000 (after taxes).  The factory itself can be build at a cost of $700,000 today and $400,000 six months from today.  The factory is expected to generate a net, after-tax cash flow of $140,000 ten months from today.  After this initial cash flow, the factory is expected to generate quarterly cash flows that increase by 3% each through five years and four months from today.  The risk-free rate is 1.46% and the market risk premium is 6.4%.  What is the impact on the value of the EA of building this factory?

r = 1.46 + 0.9(6.4) = 7.22%
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